T2 6 FEFTTAITETEL

4H~9H
4 A 5 A 6 H 7 A 8 HA 9 A

1k X 1|H| HEEH [|X 1= EWR&H |A

VAR = 2|A K 2 (Lt K

3K T|EER=ZH| 3| X X 3|8 K

4|= Hl&#EUDH| 4[|k = 4|A| HEH |K

5(L A|FEEDH|5|KR| BIEH | 5|X| BIEH |&| 51FH
6(EH| HeEEH |X| REIRH [6|= H| H#EH |6/|K +

7R BI1%FH |XK| 351F%HB |7|% H|rrszb/sizB| T (AR H| HiEH
8|k N 8|B| STEP |X]I 8|= H

9 (K = | AgiREVy | 9| A Kl 9|t X

10| R * 10| K N 10|H| H#EH |k

1= Hl HeEH |11k =| | 11(A R

12| = A 12| R anll I 12|k =

13|H| HEEH |[|X 13|= Hl HeEH |13|5K *

14| A K 14| = A 14| K| HS&WH |H| HiEH
15K X 15|8| H#EFEH [X 15|&| HAERWRFH |A| EDH
16|7K = 16[A K 16| | HAEWRH (K

171K fnl 17| X N 17/2| HeEEH (K

18| = H HeEH |18|5k = 18| H N

19| & A 19|K * 19| K =

208 HiEH |X 20| = H BHEH 20|k +

21| A K 21| & Al #DH |[21|K H| HeEH
22( K N 22(8| HiEH |[X 22| = H

23|k = 23| A| &FAR K| ARy )2 |23| K| #H>DH
24( K * 24|k { KR EAR#FHF |24|H| HEH |K

25| & H HEH |25|K ¢ = 25| A 7N

26|t A 26( A ¥ * 26| K =

27|18 HEEH |[X 27| = { H| HIEH |27|K +

28| H K 28|t ¥ A 28[ A H HiEZH
29| k| BEBFODH | A 29|H| H#EH |X 29| = A

30|k = 30| A K 30|t X

31 + 31 7 31/H| HiEH

HOHETERE T, PENEEELADBEIBYET, TTRIEIL,

e, EXGHRBICHALELTIE. EARALTHYET BAOHEY : BULLET I N) TITHRALSZESL,




